D1vISION WITH A REMAINDER II (H - SET 4)

brvision Name:
Time: Score: y—
1198 + 10 = 16) 18976 = 3 =
2 682+ 10 = 1136307 + 8 =
9 4495 + 5 = 1) 2807 +1 =
4231 +5 = 19) 36865 + 8 =
5 3917+ 1 = 200 5969 + 4 =
6 39485 +9 = 2 765 =+ 10 =
N 6708 +4 = 22) 3672 + 10 =
9 23769 + 10 = 23) 3048 + 5 =
9 12081 +2 = 2 1170 + 5 =
10) 27708 +4 = ) 16991 + 2 =
1) 5332 =10 = 26) 19208 = 3 =
12) (581 + 10 = a1 23715 + 3 =
13 580 = § = %) 40434 +9 =
1 1361 +5 = 290 6808 + 1 =
15 56690 = 6 = 300 7763 =+ 6 =
Mathematics: Division - Level § - Horizontal - Set 4 26 cul
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